A 4
’ CHILE

1L/ RIN

ELECTRIC MOTORCYCLE

FRAME ACCESORIES

11

ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile



CHILE

1L/ RIN

ELECTRIC MOTORCYCLE

FRAME ACCESORIES

Item Parte Ref. No. Descripcion Unit Qty. Precio (CLP)
1 12122-56000-000 Left Battery Pack Holder Rubber Cushion Pcs 1 S 6.500
2 12123-56000-000 | Right Battery Pack Holder Rubber Cushion Pcs 1 S 6.500
3 10471-56000-000 Screw GB/T70.3-2000(M5*10) Pcs 6 S 3.500
4 12124-56000-000 Rear Battery Pack Holder Cushion Pcs 1 S 3.500
5 10438-56000-000 Screw GB/T70.2(M6*10) Pcs 2 S 3.500
6 43411-56000-000 Battery Pack Rear Fender Holder Pcs 4 S 5.100
7 10428-56000-000 Scew GB/T70.2 (M5*10) Pcs 4 S 3.500
8 43842-56000-000 Controller Upper Left & Right Holder Pcs 2 S 6.400
9 10438-56000-000 Screw GB/T70.2 (M6*10) Pcs 8 S 3.500
10 43845-56000-000 Controller Lower Holder Pcs 2 S 6.400
11 50010-56000-000 Harness Assy. Pcs 1 S 85.000
12 43353-56000-000 Harness Assy. Clip Pcs 1 S 3.500
13 43354-56000-000 mounting plate,main harness Pcs 1 S 3.500
14 10438-56000-000 Screw GB/T70.2 (M6*10) Pcs 1 S 3.500
15 10438-56000-000 Screw GB/T70.2 (M6*10) Pcs 1 S 3.500
ventas@talariachile.cl cel: + 56 9 9415 7593 @talariachile




